1. e @9 7= AT W=D T
sifsfow feger ?

Ans: TEE #2

2. AT LT @D AT (& e 2
Ans: W&RQ_@/?[

3. Sz e OReT O Al (IS @I
FEe FE 2
Ans: (73faf

4. T, ST, TR € GoAfama Wy
@I @M S 77 ?

Ans: OGO

5. B sl -9 G99 A9 [o @
fesgE (e 2
Ans: @ (alifaw forg
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1. Fofafad $7 duRerR ‘R 3% e’
afs?

Ans: T I®

2. UooTd ¥ 9 ST o fgqu?
Ans: RfEg 99

3. qewc o qeTehe] SRl Te1EHT foeettame
el T T 7T?
Ans: <@l

4. Hfed], I, HIHRA 31 UG %
<Tel g 3T Brg?
Ans: HaTHRd

5. fq@ wvw Of9 ‘&R gne T w1
HHTee fag w&?
Ans: & Tiifers T8

[Please Turn Over]
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6. (53 O /17 =1z (Pitt’s India Act) F9
A AT 2R ?
Ans: 1784

7. NES @9 A0 Slhce (@@ e
AT T 2 2
Ans: ﬂ'@@m@ﬁ

8. 1885 I AT 24N WA= Fe
(I 2 SRS 2 ?
Ans: @F3

9. @ AN TN SIF TIf Sfeqe ©F e 2
Ans: 1930

10. 1938 iteT ASALT (Pl P SRCIHITT
&) STern® @ Aeieifs FLitw 22

Ans: 250

6. T9eg sfean = (Pitt’s India Act), T4eshl 9Rd
SAfUfTIH A FreTH Yueh for?
Ans: 1784

7. Trafafgd $7 3ol orSes wRdel eray
oA ST wifs?

Ans: € SRS

8. 1885 TTeTHT Shideh! T¥H STTLASM el THaeh!
T IRTHT TR TT?
Ans: Eﬁl’s‘

9. TRIH THtel A HieTH Grel J14 SAYaH g
T wE?
Ans: 1930

10. 1938 TICTHT GA9LH A SATHSIAH GHTH T=
a9 gymfa fefaa yu?

Ans: BRQU



11. 225 (Granite) &9 4FEF ®&TF (rock)
TwIzRel ?
Ans: ST i (Igneous rock)

12. T8 SAw’ (Hanging Valley) FEfiiee
T =IN 77B GRACAT SRR 2

Ans: &541Z (Glacier)

13. SeTfaifea Soown % (Peak) 7N F 2
Ans: @M

14. 515 (Hematite) (@9 2SS (Mineral)
Aniea @6 42T T2

Ans: SIIS{&F @R (Iron ore)

15. &g @IS €9 (Chittaranjan
Locomotive Works) 2155305 (Fle (S SI_ES ?

Ans: 253 I8
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11. UFEE (Granite) 5 Tehiahl Tl (rock)
IR B2
Ans: 37 fren (Igneous rock)

12. T3 A& gl 3UIdshl (Hanging Valley),
frefafad & g afe 212

Ans: feqemE (Glacier)

13. rerfiden a9 e (Peak) %7 217
Ans: @re@gl

14. fgATeEe (Hematite) §9 Ykl @S
(Mineral) 81?7
Ans: 3795k @@l (Iron ore)

15. foc{s <irenrdifea aehd  (Chittaranjan
Locomotive Works) af¥=d sTeTehl % fSeetm
Frafed ©?

Ans: af¥=m aEE

[Please Turn Over]
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16. 2023 AT Wzet U-19 T-20 et @i
el SRiTere BeRe 2

Ans: W SifE

17. Zfesiele Aena AN w1 F 2
Ans: RS

18. FIOA SRS FIFA feitst @ o=t il
X

Ans: TS5

19. N (Caddie) *F6 @9 (A&7 Ax
To|fFe 2

Ans: ST

20. JET THATH FIEAEAN - ABRTS! (F ?
Ans: ST Sepmld

(6)

16. 2023 e "igel U-19 T-20 fowe 69 ¢
M TSI Rt o ?
Ans: Sf&I0T 3TSRIH

17. SAETE TSeh] TSR] =T o 812
Ans: TR

18. AT 9TH FIFA fawa o g4 <3 f5a
T

Ans: TS

19. g (Caddie) I8 5 Wel T G fehd g7
Ans: TcHh

20. ST ST ‘ShleTslell’ hde] Tehl g7
Ans: FH HSHIR



21. @ 3« (force) 7! ﬁfﬁ @ TS
@ e S 5, OIS €3 T B o7 T2

Ans: ©1F (Weight)

22. ﬁf‘ﬁl (Camphor)-(F €% F1 ©( e
Tl 2@ MR Alcest sifFere 26T @l 2 2

Ans: Tolled (Sublimation)

23. AlKFe 9e1TE (Common Balance) (i (=i
e

Ans: &Y

24. SI *&fere OFmIgE @< (Unit) 2
Ans: @fed (Kelvin)

25. TR oM (Spring Balance) SIHIG I€F S
AT w1l 202

Ans: ©I9 (Weight)

RB/CN_LC/KP(Prlm)/2022
21. S (force) §RI ATl ol &g et STEHT

SR T, TS Al T oh =97
Ans: ¥ (Weight)

22, &Y (Camphor) R SIEASIE (When heated)
T A9E dF YT IS oh HiT5?
Ans: SEINIA (Sublimation)

23. WEROTgersT= (Common Balance) %1 Sofienl
forwr?

Ans: 99H

24. SI fafemn qraEEe T (Unit) & @172
Ans: HeTiydT (Kelvin)

25. & qen (Spring Balance) HIEaHe! &l
IR g2
Ans: ¥ (Weight)

[Please Turn Over]
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26. BT (Potassium)-43 IPTTRE AFS
(Chemical formula) Je

Ans: K

27. WRRIRICSR T (@0 @ 4ed Srizge 2
Ans: #Id% (Mercury)

28. aid Bivf @ Treelw (N.T.P.) «F &AN-9iq
(1 gm-mole) FE SETR BTo (Volume) 9
EIGK
Ans: 22-4 5@

29. e @I Sfee wiHeEay (Non-electrolyte)
RCEE:

Ans: FRE 439 (Salt Solution)

30. ~Gif< Ai=ysiEGa w99 (Solution) F
qefa ez

Ans: @ (Violet)

26. GIAFH (Potassium) I THEME g3
(Chemical formula) & @I?

Ans: K

27. frafafEdare 37 Te ¥ e 8172
Ans: (Mercury)

28. G YA (Temperature) A TeraH
(Pressure) 1 gram-mole It TR (Gas) EAH
1 (Volume) hid g7

Ans: 22-4 TeTe

29. del fqUsh TsggeHl % TH-3eieriense (Non-
electrolyte) BIsH?
Ans: Tlﬁ =t (Salt Solution)

30. dreIEm TS (Solution) T F §5?
Ans: ST (Violet)



31. ‘eqizE MBS’ (Oryza Sativa) FEfEe

@Ia e e (Scientific) I3 ?
Ans: 49

32. a0 @6 G (Unicellular) 208t

3 ?
Ans: \ﬁ\oﬁfﬁl (Tapeworm)

33. fIyre @F @FT sl @b weiE
(Synthesis) ARSI FC ?

Ans: REICEN

34, HAE @ F© (@A (pair) T
(Salivary gland) <l ?

Ans: TOCSIG]

35. SITBIA (Goitre) @191 Fera i 2

Ans: All will get marks even not attempted.
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31. Oryza Sativa TrafafEa s Smfas
(scientific) =TH BI?
Ans: €9

32. qo1 feuen Hed FA <t TSt (Unicellular)
Troft BrgH?
Ans: <9 9™ (Tapeworm)

33. =Iftmmnl (cell) T HFTel UeHems Heeifta
(Synthesis) TT&?

Ans: RE™EmAZeEA™

34. A AT SS! (pair) TR AT (Salivary

glands) €97
Ans: dF e

35. Mg (Goitre) I HRU §-5?

Ans: All will get marks even not attempted.

[Please Turn Over]
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36. (LR AT 3o <RI AQH (A &l
CIoR WU @i Ao (ofs T 2@ ?

Ans: SR (E=Icet o 3w

37. SRR TR R AL TG 2Rl
(Preamble)-3 % STErelflEs @ ‘qfe@eors
(Socialist and Secular) *I% Vﬁ% I[E FAN 27 ?

Ans: 42

38. BifEaE UF o 3fon’-g TENE T 2
Ans: (%5 TF OIF 3G

39. Ty=wieT 6% @I} (National Stock
Exchange) (IR SRfZ® ?

Ans: 53

40. FHF @0 2erF 39 (Direct Tax) =12
Ans: GST

(10)

36. %5 HIRRETE M Fers foent F=ft wredta
BSIERIECICE Z R EEIRRINIERI P

Ans: SIS SFRIQT 3T gfea

37. WA Higumeh 57 QA s T
(Preamble) TH XTI 1 THTSTETS (Socialist and
Secular) We3shl K §?

Ans: 42

38. ' SHRIATE dgeThefed -l adq AT h el 2
Ans: W2 g T gfe

39, AvHel W TS (National Stock
Exchange) &l ©?

Ans: 998

40. 37 =Tt Tet X (Direct Tax) 8182
Ans: GST



(11)

41. 8.65-OF ACK F© 9 AT @9IZF6T (sum)
402-97 0.3-93 AN 27 ?
Ans: 111.95

42. 93 4= % RH I, % M T 8
25 TSGR SiteTa ©oica itz | 4161 o o141 (height) ?
(RBIcR)

Ans: 150

43. élﬁﬁ‘WW(rectangular)WW (length)
2733 (breadth) @ad | ol craws (area)
338 5o =@, o A (perimeter) 9 ?
(RoI=)

Ans: 78

44. == T (Simplify) ¢

2.13.5,2)3 ,1(1 1
157[4+23{8 22(4 8)}}

RB/CN_LC/KP(Prim)/2022
41. 8.65 G ST T SR (sum) 402 1 0.3
H g7
Ans: 111.95

42. At 5 A, 5 S
25m TR Weft B WA 91 Hfd @Ml (height) B2
(in meters)

Ans: 150

43, T3 3T TR HEHa (rectangular field)

& (length) dTeEal (breadth) TEATI Heeh!
et (area) 338 sq.m. 4T, T ARETT (perimeter)

id g7 (in meters)
Ans: 78

44. JIT T (Simplify):

2.13.52)3 _,1(1_1
15{4”3{8 22(4 SJH

[Please Turn Over]
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45. (I BIA 20 T2 M SPAC (Principal+
Interest) 3 &9 23 | R ™S 29 (rate of interest)
FO?

Ans: 10

46. BT I(FF Fg9¥ (smallest) fo?f‘i‘f (perfect
square) RIG F9 ?
Ans: 1024

47. @3 (TF @FIod SGFE (downstream)
6 NG 1 km T @R @Iced & OPCET (upstream)
TR 6 km T | (Ficed sifeael o (/a6 2

Ans: 2

48. A:B=3:4, B:C=6:53%1, A:C«¢3
i 9 2
Ans: 9:10

49, T SN *HE S S 20% @ |
S 2R IS S DA *[90h<l (percentage)
PO N ?

2

Ans: 16—
ns 3

(12)

45. % U1 20 IR el (Principal+ Interest)

3 70T ST A I SIfteh AT <X (rate of interest)
Hid §?
Ans: 10

46. TR 3T YT ST AT I (smallest)
qui 1 (perfect square) H&AT &7
Ans: 1024

47. T3 AR WA (downstream) 6 THAeHT
1 km ST 34 Eﬁ% (upstream) ®UIHI 6 km ST |
TRl YalTgeh! Tfd hfd (km/hr) B?
Ans: 2

48. A:B=3:4B:C=6:590141, A:Cal
e hid 8172
Ans: 9:10

49. THH! STHSHT YT STHSHT 91 20% SEt
B VAR TS THR! STHSHT ST Ui ara
(percentage) hfd HH B?

2
Ans: 16—
ns 3



(13) RB/CN_LC/KP(Prlm)/2022

50. seRe R[geed /e el et 20% =
(discount) #le Tl T¥ | Frrre 7 ol i @ fe
66 BIFl BT (discount) (AtE | Rge K@ ifzstiel
T e ? (BiF)

Ans: 330

51. 2kg 250gm,0.72 3 BIER*o (percentage)
TG ?

Ans: 3—

1
52. 9 BIFIF 60%, 90 BIFIF 835%—61?1?{:1?[?
Ans: 125

53. 76 AT 91T (average) 9 G O Toab
R @ (average) 4 (T, €3 5 b MRAT T
(average) 9
Ans: 6

54, (I (TSI FF 10% ' 20% 2 (discount)
(ITH (BT €21F o BT (discount) (oG (*1eF<l
() (rate of percentage) ?

Ans: 28

50. Il feselnl sl sH feu 20% B2
(discount) UTE= | THIHT dfiel STHT fqU Teh SHeiiel
Rs. 66 T2 (discount) TIT | 37kl ToreTer! afiATor hfq
forli? (in Rupees)

Ans: 330

51. 2 kg 250 gms, 0.72 quintal 1 kfd gfqerd
(percentage) 17

Ans: 3l
8

1
52. ohfd ®9FH 60%, 90 T 835% ERSLIE]
B2
Ans: 125

53. TEae W@ HA (average) 9 31 fa=
ATerel STl 37d (average) 4 B ¥, T 5 T
3id (average) i G097

Ans: 6

54, T3 TohdTel shH9 10% 311 20% B2 (discount)
TIT | H1E hid U9 (rate of percentage) T2 =37
Ans: 28

[Please Turn Over]
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55. @6 (e Wftre 106! Aete 10 Gao
AT SIS 1251 0o @ AN 191F 2 (FIE00)

Ans: 12g
9

56. &= & (greatest) efa et ¢

5 0an [ oan
5> 023,435, (08)

Ans: é
49

57. *foRn @I Q€T (AT WS TR’
9519 100 i @t T @ 95 120 i @est ez
S | =S GIACTI AORNCSR 51C 539! (average
speed) o7 (#f¥/0h)

Ans: 109L
11

58. JIfF 8% 75 WA FE (rate of simple
interest) ¥© GIFIF 4 IR v (interest) 136 Bl
2[?

Ans: 425

(14)

55. TIA ST TSI 10 as1at 10 second THIA AT,
12 9STe1 fd 999 @S2 (in seconds)

Ans: 12g
9

56. A @I AT Il (greatest):

5 00 [ oan
5023, 435, (08)

Ans: é
49

57. AT UAHUE TIEEEIE = SIeTIsi el
100 km/hr T S8 31 120 km/hr T Hehes |
TRl 3T9a Tfd (average speed) fd 217 (km/hr)

Ans: 109i
11

58. aIftieh 8% W& YT (simple interest) B ¥4
i TR T (interest) 4 THAT Rs. 136 57

Ans: 425



(15)

59. O3 @36 S2AH (fraction) Fefg T, =

X Ol (A IS (ratio) Ol W 27
(ratio) G2 Z(J |

o 2
ns: 16

: 4
PRGN

60. TSR @I 8 A IR Sl
(speed) ej7i® (ratio) 4 : 3 I‘?EI/T G M 4 T
72 ffl 212 (distance) [, O 3 TR AN
G T 212 (distance) T ? (FW)

Ans: 72

61. FN @0 Rt fResl, difdey @ Fe
eIe 120 &+ =689 W& 15% fezie feist #ite |
@B 66 T« T RO Ba 2@, T <ok
(percentage) Jlfeey Koo =g ?

Ans: 30

62. WGV 25% Jian (2IRA= | @Il sAf== am
ST &oy TP 2446 Sifaafo® 140 517, O3 5
IR #ATIe [ eF (percentage) F© 2 FACS
({2

Ans: 20
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59. T3 iehehl 3TIUM (ratio) 1 W?Té@sfr
w U 1 f9=1g (fraction) fo== |

A.z
ns: 16

2

60. TSR T i qEl T w5
3TUTd (ratio) 4 : 3 |‘1§Tf@'ﬁﬁﬁ4w72km
S5 99 3 SUHT TST9H! THIUE ahid 99 (distance)
ST? (in km.)

Ans: 72

61. T3 farmeraH fogm, snforsa &1 shetl favrmn
120 ST B0 78 15% o Seem e | Hie
66 ST ST Shell faIvITeR! BT | h{d SIS (percentage)
Srforsy forvmTar B2
Ans: 30

62. TE (Gas) &l M 25% I TR B FA
AT ST HigTh 74T T sIeR T H1g TaTeh
TN i Hfa¥Id (percentage) A TH &7

Ans: 20

[Please Turn Over]
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63. < s ARG 12%% ST 079 2 (rate
of simple interest) g GIFl 4 B @G @G
ARFA T3 FCA | I T=F 217 97 (interest) A
ez fofd 1250 Bl &l (7 | €2 & F© GIfl 41
FARE ?

Ans: 2500

64. 150 fio/ @ @6 G w6 70 B @est
(speed) ®eTtsT 200 o 7 9o @Tg (bridge)
SfoFs FACO GA0T F© GRS N 9N ?

Ans: 18

65. O FT=51 4000 &« (FICFF 190 faeia A4
o a1 | 30 el 217 800 Tl Selid BE (oIt | Tl
T (AT SR A ST SN IOl 5T 2
Ans: 200

66. 7,0,0,5 21 9 XS JR€ (greatest) @ FUOY
(smallest) BI< 9[CF< 74! (four digit number) Eﬁ?

Al 7o
Ans: 2493

(16)

63. TF S aE 12%% T T (simple
interest rate) — A1 I SUR fo X G AR gk fohs |
4 =9 ufs gSHl (interest) fegemm faft =am=nmn
Rs. 1,250 51 fom | &9 Heritel id T4 3uR
foTuant fau?

Ans: 2500

64. 150m < T3 ermer 70 km/hr <l T
(speed) Siter ZOOmFﬂﬁQBEI‘iFI (bridge) W{Tlﬁﬁﬁﬁf
HHY TFS? (in seconds)

Ans: 18

65. TS HFHT 4000 SHTEE 190 feeht i @
ot 1 30 T 9=t 800 ST 3% ShefTfek T | STeft ST
Rehle 3(TRECTE Wehl @I ohfd fad w7 Tr?
Ans: 200

66. 7,0,0,5 AT TAT=T I (greatest) A
HATTEAI (smallest) TR 37eh T 31 (four digit
number) %l TH=TT i g2

Ans: 2493



(17)

67. ST NTSCHFCIF (rectangle)?ﬁﬂ/} (Iength) €

RB/CN_LC/KP(Prlm)/2022

67. T3 3Td (rectangle) ol TS (Iength) A

2% (breadth) 20% 2 41 27 | ITSCHALF CFaTe]
(area) © *IQ[f¥ (percentage) R R ?
Ans: 36

68. 1+2+3+...4+25 MYIPEF (number series)
Q9T (sum) o ?
Ans: 325

69. 45 To= AT @ A5(CFCa (square)
iR 2 I AN FAre O T e T IS
ST 9IE, T 94 sifec@at (speed) 9 /261 Z 2

Ans: 144

88
—_— =9
70. 999 99 x99= 17

Ans: Correct option has not been given. All will
get marks even not attempted.

=rers (breadth) 20% % TRAT 94, IEh &3 (area) -
o1 id U9 (percentage) HH §-5?
Ans: 36

68. 1+2+43+...+25 G&AHAH (number series)
INTH (sum) hid g7
Ans: 325

69. T3 IR (square) HIFH TR B3 45m
B | IEH g3 A1 AR e e U=e Mgt hid 994
e Afc 39kl Tfd (speed) 9 km/hr 9?2

Ans: 144

88
—_— =9
70. 999 99 x99 =7

Ans: Correct option has not been given. All will
get marks even not attempted.

[Please Turn Over]
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71. ACNE-933¢@9 3,7, 29, 11261, BOIL-49
ENGCEIEG R
Ans: 5,31, 19, 25

72. 1=9 @3 SLIP =56 31, TASK = ¢
Ans: 51

73. @I ARE OF ©REF “pil gin jop’
‘apple is good’, ‘jop zon pin’ N ‘tree is tall” €<
‘pil man san’ ¥t ‘eat good fruit’ 2¢eT, ‘good’-9q
ENGSEa

Ans: pil

74. @I TISEAIT GROWTH-& HQPVUG
@3} FOUR-(F GNVQ 4l 2071, 92 e sepaidl
BOOKWARM-& S 12 T ?

Ans: CNPJXZSL

2

75. (STOTHARRTT ¢ HIE TG 22 (TS &2

Ans: 2T @GR

(18)

71. ACNE=IHgd3,7,29, 11 YUBOIL Sl &gd
*TS?
Ans: 5,31, 19,25

72. 1 =93 SLIP =56 Y€ TASK = ?
Ans: 51

73. FATSTAHR 9o “pil gin jop” FIHM “apple
is good”, “jop zon pin” I HIF “tree is tall” 3 “pil
man san” I 7 “eat good fruit” 94T 914 “good” =l
A A

Ans: pil

74. GROWTH &t HQPVUG 317 FOUR Afe
GNVQ wifay, =@l f=aa BOOKWARM @E
A AES?

Ans: CNPJXZSL

75. YT HRithee : Teid e o SHE g :?
Ans: T RIHS



(19)

76. @S (odd) *6 Hiere e ¢
Ans: 5155

77. CX, FU, IR, ?, OL, RI— 2414 % B
F P2
Ans: LO

78. 8,17,36,75, 7— 2XQ14S D B J =A@ ?
Ans: 154

79. 39 R fefar e ¢
5A6  10A4 15 A6

12 36 ?
4 9 7

Ans: 63

N

Tl oait ReeRe 363 T3 (i oo fbasd S
o 2
Ans: F

76.
Ans:

77.

=7

Ans:

78.
Ans:

79.

Ans:

80
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3R (0dd) T fomrs:
%l

CX, FU, IR, 2, OL, RI— ? fa=eh TI= 1 &

LO

8, 17, 36, 75, 72— ? Ta== TIHHI & 937
154

| He fors:
5N 6 10 A\ 4 15 6
12 36 ?
4 9 7
63

- a@é‘ -

Ha

ity feuen fersree g7 vRdr fasrehr *fa gga?

Ans:

F

[Please Turn Over]
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81. == AT (A 15 BN «Afey s o
JMCE Fea 20 R ASAR 77 =[T AW g0
10 & o | @3eim Tex face 7 0 len ok
T 903 5 i PIw Ti@l ¢ 399 | AT @ (¢
BT W& 1Ay o () 2
Ans: 13

82. TRANSFERENCE %54 3¢f@fe7a (letters)
AR NHa =l e @« (% (word) (o
9 AE A2

Ans: FACTOR

83. 3 B (NG 52 T =g WIS Wiz | A1,
TG 18 ST SIS SR | *IS (%13 (A 1399 I
TR | AN ANES (ACF T G R SNz ?

Ans: 20

84. P, Q, R, S, T 4Rk U-G3 (X ATOI(F STl
71 S, Q-9 (AT O | R ©gig T € P-a3 (A
T | Q AT TEH 717 IR P AIAE St 717 |
ST 7 (A0S faorw i (2

Ans: P

(20)

81. gl AR 15 km =0 T, T °fg He
20 km T 9fs &l <9 9fg Feht 10 km 7741 1 99 9fS
IR 9fg 7 km T U TEA 9Fg Teh 5 km T3 | ST
B 376 hfd TSl ¥ (in km)?

Ans: 13

82. TRANSFERENCE 3Isgah! a9 (letters ) feTaX
T feush 37 I5ahl (word) TIRT T Hfchrar?
Ans: FACTOR

83. T3 I TITHT 52 B 3T & | TH, TIH
g 18 ST STl © | 9™ U] A<de 1 3th TIHHE
B | W, T {1 hid S 9fe B72
Ans: 20

84. P,Q,R, S, T 311 U 7% Ydehehl a5 fq= |
S, Q 9T 9K | R |13 T A P 11 BTehT | Q ST
TTeh! B ST P Gl IR 813 | ekl feqemn
e == o B2
Ans: P



85. GG FFAE MR IFG P IoE,
“fofey ssIia AT AT GFNG FEF TN | s’

fEGa & 22
Ans: EmHIER

86. =T & (91161 TR (R W 4 FC 0
2| A, B-93 @ 4 33 @z | B, E-93 UM
© C-93 ifucs 9671 Wiz | C, D-93 IfE =itz | F,
A-9F TGS (2| @399 D, F-93 Alte @R E,
B-43 AN O B A8 52067 | 2] C-aq golieet
& AR ?

Ans: EQF

87. Y 261 X-¢9 ?j\@l S 2¢1 R-«€9 ‘Zj\@l Y, P-99
A SEIESE P2 R-GI /1Y, S- 99 (F 27?2
Ans: S

88. Spa e @idre Fowfe 9 siewt A, Tl
5 wNts @ 0 #itaa 7 =i feiey (divisible) ?
193499239325991312939499392391

Ans: 5

(21)
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85. TehsHI EUels Q@I TehoHT Higelel Wi,
"1 H STkl STeTehl TeRATA BRIeh 9fd g1’ g8y
HfgeTIehl sl g7

Ans: TooEEE (paternal aunt’s husband)

86. 6 ST HIH T3 Tl STThRH] TR 75 T
ehehl B 1 A, B 31 T Tehehl B 1 B, E & TEAHT A
CIIHT R B1C, DHTH IF, AR SRA B 179 9fS
D, F & 31 E, B 971 ¥ 9= 78 | 376l C hi ggufe
I o B?

Ans: E 3 F

87. Y, X ® TAIS,R A TAIY, P G foamia |
P, R B 1Y, S =l &l 91?7
Ans: T Uedt/SETE

88. TRl TR SIUTHT hid 9 U3 Tfehws, ST
31 A1 fo ufes 1 et 9 T8 fausH (divisible)
T Afehs?

193499239325991312939499392391
Ans: 5

[Please Turn Over]
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89. NATIONALISM %53 afefs w33
(vowel)-& 35 w9 stma (T (letter) =i
ofozifore (replaced) <<l 20T <R afefs wgad
(consonant)-& % ©iF s ¢ @ 2fenifere
(replaced) 41! 21, o Ifcefag s (2 AL
3¢5 FF 222

Ans: B

90. M IR (alphabet) 22 (AF 18T
Feefa difacea A9 (seventh) 3¢ IAG 2
Ans: K

91.

Ans: All will get marks even not attempted.

92. % A e ¢
(i) *IIf& (i) "I (printing)
(i) el (iv) el (v) FI7le
Ans: (iii), (iv), (v), (i1), (i)

89. NATIONALISM Y&&h! T W@ a0
(vowel) T8 @l fosh dfseht gofet 3 feg e1fq
T G 99 (consonant) T8 T3 31ferent guiet
AT | THETE A 0T Tth TATHT §5?

Ans: B

90. ISt AT g% <@l 18th =uishl Ssiug!
7th ot 4 27
Ans: K

91.

Ans: All will get marks even not attempted.

92. Hfos 1 famrs .

() ¥t (ii) | (printing)

(iii) HUE  (iv) =F (v) <
Ans: (iii), (iv), (v), (ii), (i)



93. (A Z& AT N | G 26T A0 (i
G2 AT 26 SHI 2 | 9] b (P 2 2
Ans: A

94, 25 SRR, 2008 GINRIF 20, 231 315, 2008
I AT A
Ans: J¥QI9

95, 7¢I fefay e ¢

Ans: 573

96. Z=1,A=2693R GOAT =653, FATI="?
Ans: 72

97. ‘+’ Wit ‘+7, ‘= W %, =" W " IR
X’ NI 7 AN
67x119 +17-27+259="7
Ans: -3

(23) RB/CN_LC/KP(Prlm)/2022

93, T ekl ST g | HIHT TRl Sfe | T
ST g | <Y TSThT 0l B2
Ans: dfgtenl BT (Sister’s Son)

94, 25th e’ 2008, WHaR YT, 2nd AT, 2008
*TS?

96. Z=1,A =26, 3 GOAT = 65, FATI = ?
Ans: 72

07, 4T+, WA O, HR A

e ‘4> 9T
67x119+17-27+259="7
Ans: -3

[Please Turn Over]
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98. UNDERSTANDING 64 3¢fesfe (letter) -5
I (A 331 2! (alphabet) SR G
€ G5 I GFAE AZel FACE N (A =B 9
@I 2

Ans: S

99. WG (T A € B I2A@ 57 @ #Afesa e 39
[T, TIG 3T, S0 T | 924, A @ B TG @i s
R I MR ?

Ans: W, Ted

100. 8, 17, 26, 35, ? — 2WE@EF BT BEw J
A ?
Ans: 44

(24)

98. UNDERSTANDING Y<ehl GUieTs JoiaTe
SISt At (alphabet) STE0 HSU 31 T3 quiets
Thee T80 TR, Jeifeame 8th 30 4 597

Ans: S

99. g faudt A &1f1 B sww o @1 ufvew akh
&, A 3 B A% 1 T ath Tehehl B2
Ans: T, IR

100. 8, 17,26, 35, 2 — ? Ta=o TIHHI & 9557
Ans: 44
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